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◆❛♠❡✿ ❱♦r♥❛♠❡✿ ▼❛tr✐❦❡❧♥✉♠♠❡r✿
✭❜✐tt❡ ❞❡✉t❧✐❝❤ s❝❤r❡✐❜❡♥✮ ✭✾st❡❧❧✐❣✦✮

❆✉❢❣❛❜❡ ✶ ✷ ✸ ✹ ✺ ✻ ❙✉♠♠❡

♠ö❣❧✐❝❤❡ P✉♥❦t❡ ✻✵ ✷✵ ✶✺ ✸✵ ✶✺ ✹✵ ✶✽✵

❡rr❡✐❝❤t❡ P✉♥❦t❡

❲✐❝❤t✐❣❡ ❍✐♥✇❡✐s❡

• ❉❛✉❡r ❞❡r ❑❧❛✉s✉r✿ ✶✽✵ ▼✐♥✉t❡♥✱ ❞❛✈♦♥ ✻✵ ▼✐♥✉t❡♥ ❢ür ❆✉❢❣❛❜❡♥ ♦❤♥❡ ❍✐❧❢s♠✐tt❡❧ ✭❚②♣ ■✮✱
✶✷✵ ▼✐♥✉t❡♥ ❢ür ❆✉❢❣❛❜❡♥ ♠✐t ❍✐❧❢s♠✐tt❡❧ ✭❚②♣ ■■✮✳

• Prü❢❡♥ ❙✐❡✱ ♦❜ ❛❧❧❡ ❆✉❢❣❛❜❡♥❜❧ätt❡r ✈♦r❤❛♥❞❡♥ s✐♥❞✳
• ❙❝❤r❡✐❜❡♥ ❙✐❡ ❛✉❢ ❞❛s ❉❡❝❦❜❧❛tt ■❤r❡♥ ◆❛♠❡♥ ✉♥❞ ■❤r❡ ▼❛tr✐❦❡❧♥✉♠♠❡r✳
• ●❡❜❡♥ ❙✐❡ ❜❡✐ ❞❡♥ ❆✉❢❣❛❜❡♥✱ ❞✐❡ ♦❤♥❡ ❍✐❧❢s♠✐tt❡❧ ③✉ ❜❡❛r❜❡✐t❡♥ s✐♥❞✱ ■❤r❡ ▲ös✉♥❣❡♥ ❛✉❢ ❞❡♥ ❆✉❢✲

❣❛❜❡♥❜❧ätt❡r♥ ❛♥✳ ❇❡✐ ❇❡❞❛r❢ ❦ö♥♥❡♥ ❙✐❡ ✇❡✐t❡r❡s ❢❛r❜✐❣❡s ❙❝❤r❡✐❜♣❛♣✐❡r ❛♥❢♦r❞❡r♥✳ ❱❡r✇❡♥❞❡♥ ❙✐❡
❤✐❡r❢ür ❦❡✐♥ ❡✐❣❡♥❡s P❛♣✐❡r✳

• ❉✐❡ ❆✉❢❣❛❜❡♥❜❧ätt❡r ③✉ ❞❡♥ ❆✉❢❣❛❜❡♥✱ ❞✐❡ ♠✐t ❍✐❧❢s♠✐tt❡❧♥ ③✉ ❜❡❛r❜❡✐t❡♥ s✐♥❞✱ s✐♥❞ ③✉s❛♠♠❡♥ ♠✐t
❞❡♥ ③✉❣❡❤ör✐❣❡♥ ▲ös✉♥❣❡♥ ❛❜③✉❣❡❜❡♥✳

• ❑❡✐♥❡ ❣rü♥❡♥ ❙t✐❢t❡ ✈❡r✇❡♥❞❡♥✳
• ❉✐❡ ▲ös✉♥❣❡♥ s♦❧❧❡♥ ❛❧❧❡ ◆❡❜❡♥r❡❝❤♥✉♥❣❡♥ ✉♥❞ ❩✇✐s❝❤❡♥❡r❣❡❜♥✐ss❡ ❡♥t❤❛❧t❡♥✳
• ❚❛s❝❤❡♥r❡❝❤♥❡r s✐♥❞ ♥✉r ❜❡✐ ❞❡r ▲ös✉♥❣ ❞❡r ❆✉❢❣❛❜❡♥ ♠✐t ❍✐❧❢s♠✐tt❡❧ ✭❚②♣ ■■✮ ❡r❧❛✉❜t✳ Pr♦❣r❛♠✲

♠✐❡r❜❛r❡ ❘❡❝❤♥❡r ♥✉r ♦❤♥❡ Pr♦❣r❛♠♠t❡✐❧ ❜❡♥✉t③❡♥✳
• ❉✐❡ ❇❡♥✉t③✉♥❣ ✈♦♥ ❛♥❞❡r❡♥ ❡❧❡❦tr♦♥✐s❝❤❡♥ ●❡rät❡♥ ✭③✳❇✳ ▲❛♣t♦♣s✱ ▼♦❜✐❧t❡❧❡❢♦♥❡✱ ❚❛❜❧❡ts✱ ❡t❝✳✮ ✐st

♥✐❝❤t ③✉❧äss✐❣✳ ❉✐❡s❡ ●❡rät❡ s✐♥❞ ✇ä❤r❡♥❞ ❞❡r ❑❧❛✉s✉r ❛❜③✉s❝❤❛❧t❡♥ ✉♥❞ s♦ ✇❡❣③✉❧❡❣❡♥✱ ❞❛ss ❡✐♥
✉♥♠✐tt❡❧❜❛r❡r ❩✉❣r✐✛✱ ✭③✳❇✳ ❛✉s ❚❛s❝❤❡♥ ✐♥ ❞❡r ❑❧❡✐❞✉♥❣✮ ♥✐❝❤t ♠ö❣❧✐❝❤ ✐st ✉♥❞ s✐♥❞ ✐♥ ❚❛s❝❤❡♥ ③✉
✈❡r✇❛❤r❡♥ ✭③✳❇✳ ❆❦t❡♥t❛s❝❤❡✱ ❘✉❝❦s❛❝❦✱ ♦✳ä✳✮✳ ❋❛❧❧s ❞✐❡s❡ ❘❡❣❡❧ ♥✐❝❤t ❡✐♥❣❡❤❛❧t❡♥ ✇✐r❞✱ ❣✐❧t ❞✐❡s ❛❧s
❚ä✉s❝❤✉♥❣s✈❡rs✉❝❤✳

• ❉❛s ❱❡r❧❛ss❡♥ ❞❡s ❑❧❛✉s✉rr❛✉♠❡s ③✇✐s❝❤❡♥ ❆✉❢❣❛❜❡♥ ❚②♣ ■ ✉♥❞ ❚②♣ ■■ ❞❡r ❑❧❛✉s✉r ✐st ♥✐❝❤t ❣❡st❛tt❡t✳
●❧❡✐❝❤❡s ❣✐❧t ❢ür ❞❛s ❱❡r❧❛ss❡♥ ❞❡s ❘❛✉♠❡s ✈♦r ❆❜❧❛✉❢ ❞❡r ❇❡❛r❜❡✐t✉♥❣s③❡✐t✳

• ❚♦✐❧❡tt❡♥❜❡s✉❝❤❡ s✐♥❞ ♥✉r ❡✐♥③❡❧♥ ✉♥t❡r ❍✐♥t❡r❧❡❣✉♥❣ ❞❡s ❙t✉❞❡♥t❡♥❛✉s✇❡✐s❡s ❜❡✐ ❞❡♥ ❆✉❢s✐❝❤ts♣❡r✲
s♦♥❡♥ ❣❡st❛tt❡t✳

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✽ ✶
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❆✉❢❣❛❜❡ ✷ ✭✷✵ P✉♥❦t❡✮
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r

❇❡st✐♠♠❡♥ ❙✐❡ ❢ür ❞❛s ❞❛r❣❡st❡❧❧t❡ ❙②st❡♠ ❞✐❡ ❊✐♥✢✉ss❧✐♥✐❡♥ ❢ür

❛✮ ✭✶✵ P✳✮ ❞❛s ▼♦♠❡♥t Mr ✐♠ P✉♥❦t r✳ ❇r✐♥❣❡♥ ❙✐❡ ❛✉❢ ❞❡♥ ▲❛st❣✉rt ❜❡❧✐❡❜✐❣ ❦ür③❜❛r❡
❦♦♥st❛♥t❡ ❙tr❡❝❦❡♥❧❛st❡♥ ♠✐t ❡✐♥❡♠ ❲❡rt ✈♦♥ 20 kN/m s♦ ❛✉❢✱ ❞❛ss s✐❝❤ ❞❛s ♠❛①✐♠❛❧❡
▼♦♠❡♥t ✐♠ P✉♥❦t r ❡✐♥st❡❧❧t ✉♥❞ ❡r♠✐tt❡❧♥ ❙✐❡ ❞❛❢ür ❞❡♥ ❲❡rt ❢ür ❞❛s ▼♦♠❡♥t Mr✳

❜✮ ✭✶✵ P✳✮ ❞✐❡ ◗✉❡r❦r❛❢t Qr ✐♠ P✉♥❦t r✳ ❲✐❡ ❣r♦ÿ ❞❛r❢ ❡✐♥❡ ❊✐♥③❡❧❧❛st ❋ ♠❛①✐♠❛❧ s❡✐♥✱
s♦❞❛ss ❞✐❡ ◗✉❡r❦r❛❢t Qr ✐♠ P✉♥❦t r ❞❡♥ ❲❡rt 100 kN ♥✐❝❤t ü❜❡rs❝❤r❡✐t❡t✳

❉❡r ③✉ ❜❡tr❛❝❤t❡♥❞❡ ▲❛st❣✉rt ❞❡s ❙②st❡♠s ✐st ✶✲✷✲✸✲✹✳

❱❡r✇❡♥❞❡♥ ❙✐❡ ❞✐❡ ❜❡✐❣❡❢ü❣t❡♥ ▲ös✉♥❣s③❡tt❡❧ ♠✐t ❞❡r ❡♥ts♣r❡❝❤❡♥❞❡♥ ❑❡♥♥③❡✐❝❤♥✉♥❣ ✭Mr

✉♥❞ Qr✮✳
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r
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❆✉❢❣❛❜❡ ✸ ✭✶✺ P✉♥❦t❡✮

r

2 m

2 m 2 m 2 m

1

2 3

4

▼❛t❡r✐❛❧✿

EI = 5000 ❦◆♠2❀ EA,GAQ → ∞

❛✮ ✭✶ P✳✮ ❇❡st✐♠♠❡♥ ❙✐❡ ❞❡♥ ●r❛❞ ❞❡r st❛t✐s❝❤❡♥ ❯♥❜❡st✐♠♠t❤❡✐t n ❞❡s ❞❛r❣❡st❡❧❧t❡♥
❙②st❡♠s✳

❜✮ ✭✶✹ P✳✮ ❊r♠✐tt❡❧♥ ❙✐❡ ❞✐❡ ❊✐♥✢✉ss❧✐♥✐❡ ❞❡s ▼♦♠❡♥ts Mr ❛♥ ❞❡r ❙t❡❧❧❡ r✳ ❱❡r✇❡♥❞❡♥
❙✐❡ ❤✐❡r❢ür ❞❛s ✭n− 1✮✲❢❛❝❤ st❛t✐s❝❤ ✉♥❜❡st✐♠♠t❡ ❙②st❡♠ ✐♥ ❑♦♠❜✐♥❛t✐♦♥ ♠✐t ❞❡♠ ω✲
❱❡r❢❛❤r❡♥✳ ❉✐❡ ❲❛♥❞❡r❧❛st ❜❡✇❡❣t s✐❝❤ ♥✉r ❛✉❢ ❞❡♠ ▲❛st❣✉rt ✷✲r✱ ❞✳❤✳ ❞✐❡ ❊✐♥✢✉ss❧✐♥✐❡
s♦❧❧ ♥✉r ❢ür ❞✐❡s❡♥ ❇❡r❡✐❝❤ ❛✉❢❣❡st❡❧❧t ✇❡r❞❡♥✳

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✽ ✺



❘✉❤r✲❯♥✐✈❡rs✐tät ❇♦❝❤✉♠ • ❇❛✉✲ ✉♥❞ ❯♠✇❡❧t✐♥❣❡♥✐❡✉r✇✐ss❡♥s❝❤❛❢t❡♥ • ❙t❛t✐❦ ✉♥❞ ❉②♥❛♠✐❦

❆✉❢❣❛❜❡ ✹ ✭✸✵ P✉♥❦t❡✮

∆T/h

P

q

1

2

3 4

5

2m

2m 1m 1m4m

 

q  = 40 [kN/m]

P  = 100 [kN]

∆T/h = 100 [K/m]

αT = 1,2 x 10-5 [K-1]

EI = 10.000 [kN*m2]

EA1 = 1.000 [kN]

EA2-5 = ∞
GAQ = ∞
 

 
 

q

cφ= ∞

1

2
3 4

5 6

❛✮ ✭✷ P✳✮ ❇❡st✐♠♠❡♥ ❙✐❡ ❞❡♥ ●r❛❞ ❞❡r ❣❡♦♠❡tr✐s❝❤❡♥ ❯♥❜❡st✐♠♠t❤❡✐t ng ❞❡s ❣❡③❡✐❣t❡♥
❙②st❡♠s ✉♥t❡r ❇❡rü❝❦s✐❝❤t✐❣✉♥❣ ❛❧❧❡r ❘❛♥❞❜❡❞✐♥❣✉♥❣❡♥ ✉♥❞ ▼❛t❡r✐❛❧♣❛r❛♠❡t❡r✳

❜✮ ✭✷✺ P✳✮ ❊r♠✐tt❡❧♥ ❙✐❡ ❞❡♥ ▼♦♠❡♥t❡♥✈❡r❧❛✉❢ ❞❡s st❛t✐s❝❤❡♥ ❙②st❡♠s ♠✐t ❍✐❧❢❡ ❞❡s ❲❡❣✲
❣röÿ❡♥✈❡r❢❛❤r❡♥s ✉♥❞ st❡❧❧❡♥ ❙✐❡ ❞✐❡s❡♥ ❣r❛✜s❝❤ ❞❛r✳

❝✮ ✭✸ P✳✮ ❲✐❡ ♠✉ss ❞✐❡ ä✉ÿ❡r❡ ❊✐♥③❡❧❧❛st P ✈❡rä♥❞❡rt ✇❡r❞❡♥✱ s♦❞❛ss ❞✐❡ ✈❡rt✐❦❛❧❡ ❱❡r✲
s❝❤✐❡❜✉♥❣ ❛♥ ❑♥♦t❡♥ ✷ ③✉ ✵ ✇✐r❞❄

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✽ ✻
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❆✉❢❣❛❜❡ ✺ ✭✶✺ P✉♥❦t❡✮

❉❛s ❞❛r❣❡st❡❧❧t❡ st❛❜✐❧✐täts❣❡❢ä❤r❞❡t❡ st❛t✐s❝❤❡ ❙②st❡♠ ✐st ✉♥t❡r ❇❡rü❝❦s✐❝❤t✐❣✉♥❣ ❞❡r ❞❛r❣❡✲
st❡❧❧t❡♥ ▲❛st❡✐♥❧❡✐t✉♥❣ ♥❛❝❤ ❞❡♠ ❱❡r❢❛❤r❡♥ ✈♦♥ ❘✐t③ ✉♥❞ ✉♥t❡r ❱❡r✇❡♥❞✉♥❣ ❞❡s Pr✐♥③✐♣s
❞❡r ✈✐rt✉❡❧❧❡♥ ❱❡rs❝❤✐❡❜✉♥❣❡♥ ③✉ ❜❡❛r❜❡✐t❡♥✳ ❆❧❧❡ ●❡♦♠❡tr✐❡♣❛r❛♠❡t❡r ✉♥❞ ▼❛t❡r✐❛❧❞❛t❡♥
s✐♥❞ ❞❡r ❙②st❡♠s❦✐③③❡ ③✉ ❡♥t♥❡❤♠❡♥✳

 x

z,w

L

P

cF

F

  1,5m

1,5m

3m

nmax

▼❛t❡r✐❛❧✲ ✉♥❞ ◗✉❡rs❝❤♥✐tts✇❡rt❡✿

❊■ = 7500 ❦◆♠2

▲ = 6 ♠
❝❋ = 250 ❦◆✴♠

❇❡❧❛st✉♥❣

P = 1500 ❦◆
❋ = 2000 ❦◆
♥♠❛① = 500 ❦◆✴♠

❍✐♥✇❡✐s✿ ❇❡✐ ❞❡r ❇❡❛r❜❡✐t✉♥❣ ❞❡r ❣❡s❛♠t❡♥ ❆✉❢❣❛❜❡ ✐st ❞❡r ❊✐♥✢✉ss ❞❡r ❆①✐❛❧✈❡r③❡rr✉♥❣
ε(x) ❜③✇✳ ❞❡r ✈✐rt✉❡❧❧❡♥ ❆①✐❛❧✈❡r③❡rr✉♥❣ δε(x) ③✉ ✈❡r♥❛❝❤❧äss✐❣❡♥✦

❛✮ ✭✺ P✳✮ ●❡❜❡♥ ❙✐❡ ❞❛s Pr✐♥③✐♣ ❞❡r ✈✐rt✉❡❧❧❡♥ ❱❡rs❝❤✐❡❜✉♥❣❡♥ ❢ür ❞❛s ❞❛r❣❡st❡❧❧t❡ ❙②✲
st❡♠ ❛♥✳ ❉rü❝❦❡♥ ❙✐❡ ❛❧❧❡ ❙❝❤♥✐tt❣röÿ❡♥ ✉♥❞ ✈✐rt✉❡❧❧❡♥ ❑rü♠♠✉♥❣❡♥ ❞✉r❝❤ w(x) ❜③✇✳
❆❜❧❡✐t✉♥❣❡♥ ✈♦♥ w(x) ❛✉s✳

❜✮ ✭✽ P✳✮ ❋ür ❞✐❡ ❇❡r❡❝❤♥✉♥❣ ♥❛❝❤ ❞❡♠ ❘✐t③ ❱❡r❢❛❤r❡♥ s✐♥❞ ③✇❡✐ ❆♥s❛t③❢✉♥❦t✐♦♥❡♥ ❤A

✉♥❞ ❤B ❛❧s ❱♦rs❝❤❧❛❣ ❛♥❣❡❣❡❜❡♥✿

❤A =









x2

L2
(x− L)

x3

L3
(x− L)









❤B =









x2

L3
(L2

− 2Lx+ x2)

x3

L4
(L2

− 2Lx+ x2)









Prü❢❡♥ ❙✐❡ s♦✇♦❤❧ ❤A ❛❧s ❛✉❝❤ ❤B ❛✉❢ ✐❤r❡ ❣❡♦♠❡tr✐s❝❤❡ ❩✉❧äss✐❣❦❡✐t ♠✐t ❍✐❧❢❡ ❞❡r
❣❡♦♠❡tr✐s❝❤❡♥ ❘❛♥❞❜❡❞✐♥❣✉♥❣❡♥✳ ●❡❜❡♥ ❙✐❡ ❛♥ ✇❡❧❝❤❡ ❞❡r ❜❡✐❞❡♥ ❆♥s❛t③❢✉♥❦t✐♦♥❡♥
✈❡r✇❡♥❞❡t ✇❡r❞❡♥ ❞❛r❢✳

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✽ ✼
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❝✮ ✭✷ P✳✮ ●❡❜❡♥ ❙✐❡ ♠✐t ❍✐❧❢❡ ❞❡s ❛✉s ❆✉❢❣❛❜❡♥t❡✐❧ ❜✮ ❡r♠✐tt❡❧t❡♥ ❱❡rs❝❤✐❡❜✉♥❣s❛♥s❛t③❡s
❞✐❡ ❢❡❤❧❡♥❞❡♥ ❊✐♥tr❛❣ ❞❡r ♠❛t❡r✐❡❧❧❡♥ ❙t❡✐✜❣❦❡✐ts♠❛tr✐① Km ❛♥✦

Km =





Km11 500

500 428, 57





❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✽ ✽
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❆✉❢❣❛❜❡ ✻ ✭✹✵ P✉♥❦t❡✮

❋ür ❞✐❡ ❞❛r❣❡st❡❧❧t❡ ❑♦♥str✉❦t✐♦♥ s♦❧❧❡♥ ❞✐❡ ✉♥❜❡❦❛♥♥t❡♥ ❱❡r❢♦r♠✉♥❣❡♥ ♥❛❝❤ ❚❤❡♦r✐❡

■■✳ ❖r❞♥✉♥❣ ❜❡st✐♠♠t ✇❡r❞❡♥✳ ❆❧❧❡ ▼❛t❡r✐❛❧♣❛r❛♠❡t❡r ✉♥❞ ●❡♦♠❡tr✐❡❞❛t❡♥ ❞❡s st❛t✐s❝❤❡♥
❙②st❡♠s s♦✇✐❡ ❞✐❡ ❱❡r❞r❡❤✉♥❣ ϕ∗ ❛♥ ❑♥♦t❡♥ ✸ s✐♥❞ ❜❡❦❛♥♥t ✉♥❞ ❦ö♥♥❡♥ ❞❡r ❙②st❡♠s❦✐③③❡
❡♥t♥♦♠♠❡♥ ✇❡r❞❡♥✳
❆✉❢❣r✉♥❞ ❞❡r ❙②♠♠❡tr✐❡ ✴ ❆♥t✐♠❡tr✐❡ s♦❧❧ ✈❡r❡✐♥❢❛❝❤❡♥❞ ❞❛s ❧✐♥❦❡ ❚❡✐❧s②st❡♠ ♠✐t ❞❡♥ ❑♥♦✲
t❡♥ ✶✱✷✱✸✱✹ ❢ür ❞✐❡ ❇❡r❡❝❤♥✉♥❣❡♥ ❣❡♥✉t③t ✇❡r❞❡♥✳ ❉✐❡ ◆♦r♠❛❧❦rä❢t❡ ❢ür ❞❛s ❧✐♥❦❡ ❚❡✐❧s②st❡♠
♥❛❝❤ ❚❤❡♦r✐❡ ■✳ ❖r❞♥✉♥❣ ✇✉r❞❡♥ ❜❡r❡✐ts✱ ✇✐❡ ❛✉❢ ❞❡r ❢♦❧❣❡♥❞❡♥ ❙❡✐t❡ ❞❛r❣❡st❡❧❧t✱ ❜❡r❡❝❤✲
♥❡t✳ ❱❡r❡✐♥❢❛❝❤❡♥❞ ❦❛♥♥ ❢ür ③✉❣❜❡❛♥s♣r✉❝❤t❡ ❙tä❜❡ ✉♥❞ ◆✉❧❧stä❜❡ ♥❛❝❤ ❚❤❡♦r✐❡ ■✳ ❖r❞♥✉♥❣
❣❡r❡❝❤♥❡t ✇❡r❞❡♥✦

3,5m 1m 1m 3,5m

1,5m

1

2

3
4

q

φ*

F

EA → ∞ 

F
q

EA → ∞ 

cM
cM

▼❛t❡r✐❛❧✲ ✉♥❞ ◗✉❡rs❝❤♥✐tts✇❡rt❡✿

❊❆ = 105000 ❦◆
❊■ = 5250 ❦◆♠2

❝▼ = 500 ❦◆♠✴r❛❞

✈♦r❣❡❣❡❜❡♥❡ ❱❡r❞r❡❤✉♥❣✿

ϕ∗ = 0, 03895 r❛❞

❇❡❧❛st✉♥❣✿

❋ = 450 ❦◆
q = 700 ❦◆✴♠
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❛✮ ✭✶✱✺ P✳✮ ❙❦✐③③✐❡r❡♥ ❙✐❡ ❞✐❡ ❱❡r❢♦r♠✉♥❣s✜❣✉r ❢ür ❞❛s ●❡s❛♠ts②st❡♠ ✉♥t❡r ❞❡r ❣❡❣❡❜❡♥❡♥
❇❡❧❛st✉♥❣✳

❜✮ ✭✹ P✳✮ ❩❡✐❝❤♥❡♥ ❙✐❡ ❞❛s ❛✉❢ ●r✉♥❞ ❞❡r ❙②♠♠❡tr✐❡ ✴❆♥t✐♠❡tr✐❡ ✈❡r❡✐♥❢❛❝❤t❡ ❙②st❡♠
♠✐t ❞❡♥ ❑♥♦t❡♥ ✶✱✷✱✸✱✹ ✉♥❞ ③❡✐❝❤♥❡♥ ❙✐❡ ❞✐❡ ❢ür ❞✐❡s❡s ❙②st❡♠ ✉♥❜❡❦❛♥♥t❡♥ ❑♥♦t❡♥✲
❢r❡✐❤❡✐ts❣r❛❞❡ ❡✐♥✳

❝✮ ✭✷✷✱✺ P✳✮ ❇❡r❡❝❤♥❡♥ ❙✐❡ ❞✐❡ ③✉ ❞❡♥ ✉♥❜❡❦❛♥♥t❡♥ ❑♥♦t❡♥❢r❡✐❤❡✐ts❣r❛❞❡♥ ❦♦rr❡s♣♦♥❞✐❡✲
r❡♥❞❡ r❡❞✉③✐❡rt❡ ●❡s❛♠tst❡✐✜❣❦❡✐ts♠❛tr✐① ❞❡s ❙②st❡♠s Kred✳

❞✮ ✭✺ P✳✮ ❇❡st✐♠♠❡♥ ❙✐❡ ❞❡♥ r❡❞✉③✐❡rt❡♥ ❙②st❡♠❧❛st✈❡❦t♦r P✳

❡✮ ✭✼ P✳✮ ❇❡r❡❝❤♥❡♥ ❙✐❡ ❞✐❡ ✉♥❜❡❦❛♥♥t❡♥ ❑♥♦t❡♥❢r❡✐❤❡✐ts❣r❛❞❡ ❞❡s ❚r❛❣✇❡r❦s ✉♥❞ ✈❡r✲
❣❧❡✐❝❤❡♥ ❙✐❡ ❞✐❡ ❜❡r❡❝❤♥❡t❡♥ ❊r❣❡❜♥✐ss❡ ♠✐t ■❤r❡r ❡r✇❛rt❡t❡♥ ❱❡r❢♦r♠✉♥❣s✜❣✉r✳

3,5m 1m

1,5m -

‐1420,70

-

-582,72

◆♦r♠❛❧❦rä❢t❡ ♥❛❝❤ ❚❤r❡♦r✐❡ ■✳ ❖r❞♥✉♥❣ ❢ür ❞❛s ❧✐♥❦❡ ❚❡✐❧s②st❡♠ ❬❦◆❪
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